ROUVERBOT
=

SETUP GUIDE

A =1t

7 Buy REX
rbt.ist/rexgithub

Components of RoverBot

RoverBot P

Unlike other REX robots, RoverBot uses pallets in its movement mechanism. Thanks to its tracked structure, it
has more mobility in rugged terrain than the other REX robots.

HC-SRO4

Distance Sensor Motor Hub 4 pcs.

’—< DC Gear Motor 4pcs.
# M3 Nut 10 pcs.
mm = M3x6mmScrew 4pcs. - ( Plastic)
H M3 x 8 mm Screw 32 pcs.

Advantages of Tracked Vehicles Compared to Other Vehicles

It can move more easily on rugged terrain than other vehicles because the surface area of the part that .
provides the movement is wider. ﬂ_;. M3 x 12 mm Screw 2 pcs
[r— & M3 x 30 mm Screw 8 pcs
It can climb steeper ramps than other vehicles because it holds onto the ground better thanks to the . - 56 LE Somcer 4
e X6 mm M-| r CS.

tracks.
| l—. M3 x 20 mm Female Spacer 12 pcs
L Track pieces with pins 52 pcs. '

(26 for each side)) h4- M2 x 8mm Wooden tip Screw 4 pcs.

03 | 5ty

g | 02

Required Parts [ [

Motor cables can be

arranged as seen in
the image.

M3 Nuts 2 pcs.

LU 5
L -

¥

- ' M3 X 30 mm Screw 2 pcs.

o G

. ——

Complete same steps
for other sides.

DC Gear Motor

s | 04 05 | 5t

M3 X 25 mm Female Spacer 4 pcs.
M3 X 25 mm Female Spacer 4 pcs M3 x 6 mm Screw 4 pcs.
( Plastic )
M3 x 8 mm Screw 4 pcs.
I | :

In order to prevent any short circuit

I H I H '

: ' 00 Lo ! '

i l : 2N ! H 3 I 1 | ) related issues, please Use plastic screws
' : O I ) T ' and spacers for slectronlc cards.
[} : I |

REX 8in1 Main Board

s
3
!

: ‘ ' ; _ ; ' M3 x 6 mm F - M Spacer 4 pcs.
g ey aT o
%. ) IS % I nl
e ;
1 o -
© © ' ‘.-J;-.'?'

L
4

(e} o)
M3 X 8mm Screw 4 pcs.

o7 | 5y




M3 x 8 mm Screw 3 pcs.

M3 x 8 mm Screw 3 pcs.

R7

M3 x 20 mm Female Spacer 3 pcs. a

1 2 3

X 1’4

If the gears are not aligned as seen in the image, (1) please
revert the part (2) and then insert it.(3) This will prevent
N issues related to movement instability and tracks being
~ dismantled while in motion.

M2 x 8 mm Wooden Screw J

s | 08

x26 \

Mount the tracks for both sides

09 | (s

M3 Nut 2pcs.

M3 x 15 mm Screw 2 pcs.

HC - SR04

R4

Assembly is finished and you
can move on with coding steps

MOTOR 4
1

MOTOR 2
1

MOTOR 3

MOTOR 1

" |

The Circuit Diagram

After assembling the acrylic pieces, you can proceed with circuit installation as shown in the diagram below.
HC-SR04
Distance Sensor

MOTOR 3

Motor C - D Slot

MOTOR 2

a5 [ 12

Arduino Code

RoverBot ino

1 i

2

2 can al de
4 #define CUSTOM_SETTINGS

5 #define INCLUDE GAMEPAD MODULE
6

7 #include <DabbleESP32.h>

g8 #

a #include <analoglirite.h>

1e #include <ESP32Servo.hs

11

12 enum MOTOR TYPE {

13 DC_MOTOR, V4 V5
14 SERVO_MOTOR

p L

16  enum MOTOR TYPE motorType - DC_MOTOR; E"l_ 'E E E

18 int positionl - 983 Lq
18  int position2 = ge;

20 int position3 = ge@;

21 int positiond = 9e; EI E
2 #define Moton
24 #define MotorA2 Scan the QR code to go to
2 ) the whole code and the

33 | .
ine Motorg2 32 necessary libraries.

29 #define MotorCi 16
36 #define MotorC2 17

32 #define MotorD1 14
33 #define MotorD2 27

35 #define horn 2

1 |




